4.4

Practice - Solving Equations with 3 Variables

Solve each of the following systems of equation.

1)a—2b+c=5
20+b—c=—-1
3a+3b—2c=—4

3)3x+y—z=11

r+3y=2+13
r+y—3z=11
5) x+6y+32=4
204+ y+22=3
3r—2y+2=0
NNr+y+z=6
2—y—2=-3
T —2y+32=6
9) z+y—2=0
r—y—2z2=0
r+y+22=0

11) —2z+y—3z=1
r—4y+2=6
dr+ 16y +42=24

13) 2z +y—32=0
r—4y+2=0
dr 4+ 16y +42=0

15) 3z +2y+22=3
rT+2y—2=95
2z —4y+2=0

17) v —2y+ 3z =4
2 —y+z=-—1
dr+y+z=1

19) x —y+22=0
rT—2y+3z2=-—1
20 —2y+2=-3

21) 4z — 3y +22=40
or + 9y — T2 =47
9r 4+ 8y —32=97

23) 3x+3y—22=13
6x + 2y —52=13
or —2y —5z=1

25) 3v —4y+22=1
20 +3y—3z=—-1
r+loy—82=7

27) m+6n+3p=2_8
3m-+4n=-—3
Sm+TTn=1

29) —2w+2r+2y—22=-10
wWH+rT+y+z2=—95
SwH2r+2y+42=1
w+3r —2y+22=—-6

3Yw+zr+y+2=2
w+2r+2y+4z=1
—w+r—y—2=—06
—w+3r+y—z2=—2

2)2x+3y=2—1
dr=8z—1
oYy+7z=—-1

Hrxt+y+z=2
6z —4y + 52 =31
or +2y+22=13

6) xt—y+2z=-3
r+2y+3z=4
2r+y+z=-3

8) z+y—2=0
r+2y—42=0
20+y+2=0

10) z 42y —2=4
dr —3y+2=28



br —y=12 24) 20 —3y+52=1

12) 4z + 12y +162=4 Jr+2y —z=4
3r+4y+52=3 do+Ty—Tz2="7
r+8y+1lz=1

26) 2r+y==z

14) 4dx + 12y + 162 =0 Lo+ 2= Ay
3rx+4y+52=0 a1
r+8y+112=0 y

16) p+qg+r=1 28) 3z 42y =2+2
p+2q+3r=4 y=1-2z
Adp+5q+6r="7 3z=—2y

18) x+2y —32=9

—w+r+y—z=—4

Jr—y—4z=3
w+T+y+z=22
20) 4o —Ty+3z=1 WA T—y—z=—4
3r+y—2z=4
dr =Ty +32=6 R2) w+r—y+2=0

22) 3z +y—2=10
8r —y—62=—-3
or —2y —5z=1
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4.4

10) o solutions

11) (19,0, — 13)

12)

13) (0,0,0)

14) o solutions
15) (2, 2, —2)
16) o< solutions
17)(—1,2—3)
18)(— 1,2, —2)
19) (0,2,1)

20)
21) (10,2, 3)
22)

no solution

no solution

o solutions

Answers - Solving Equations with three Variables

23) (2,3,1)

24) o solutions

)
)
25) no solutions
26) (1,2,4)
)

27) (— 25,19, — 25)
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